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Bk -T2 | — 2—2 120 / 200 ( 60) R BT 2B — 2—2 104/ 200 ( 52)
PRk —7+ |1 475 | 2—2 116 / 200 ( 58 ) BT SHR - 3—3 135/ 300 ( 45)
FRAERREATY 3 425 -7+ 1 375 | 2—2 110/ 200 ( 55)
AR—Y  AR—V—F3 — 3—3 135/ 300 ( 45) WA BORT28F | — 2—2 100 / 200 ( 50)
ZR—=Y—F2 — 2—2 98 / 200 ( 49) RATECRT 3% — 3—3 135/ 300 ( 45)
AR—Y =T+ 1 3715 | 2—2 96 / 200 ( 48) WAEK -7+ |1 375 | 2—2 110/ 200 ( 55)
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LEEFE ta—<r FEH—THI2 — 2—2 144 / 200 ( 72) ABORRTNA |3 350
FEH—THI3 — 3—3 210/ 300 ( 70) e BT 2HR - 2—2 98 / 200 ( 49)
FEH—FH+ |1 525 | 1—1 67 / 100 ( 67) B T S HR - 3—3 135/ 300 ( 45)
PIRRE -T2 — 2—2 140 / 200 ( 70) B -7+ 1 400 | 2—2 106 / 200 ( 53)
HPRRE — T3 | — 3—3 198 / 300 ( 66) RE T 28| — 2—2 98 / 200 ( 49)
EE -+ 1 500 | 1—1 63 / 100 ( 63) EERT 38R — 3—3 135/ 300 ( 45)
WHERE— T2 — 2—2 142/ 200 ( 71) wEls®m—>+ |1 400 | 2—2 102/ 200 ( 51)
W REE—T RIS | — 3—3 201/ 300 ( 67) FEEATA 3 350
REFE—-FH I+ 1 500 | 1—1 64 / 100 ( 64) REEHETMA |3 350
FELTTHIMZ2 |2 525 G T AN 1 375 |2—2 90 / 200 ( 45)
FELTTHIMS |3 525 ATHA 3 350
YIRRERIHZ |2 475 7d ~—h—T2HF | — 2—2 106 / 200 ( 53)
SIRERIHS |3 475 ~— =T 3R | — 3—3 135/ 300 ( 45)
IRHERERTH2 |2 475 ~—hr—F+ 1 375 |2—2 96 / 200 ( 48)
IRERERTMS |3 475 25T 2HE - 2—2 106 / 200 ( 53)
Fi B —THI3 — 2,3—3 204 / 300 ( 68) &EHT 3R - 3—3 138/ 300 ( 46)
HiE— T+ 1 525 [1,2—2 136/ 200 ( 68) KFt—T7+ 1 3815 |2—2 96 / 200 ( 48)
FEEni2 2 575 ~—/7HiA 3 350
EHERIH3 3 550 SEMHTIA 3 350
ERE WBIRE —TEI2 | — 2—2 144/ 200 ( 72) | [BHEBLF REHE WEHE-—7T12]|— 2—2 94 / 200 ( 47)
FHRAE —THI3| — 2,3—3 201 / 300 ( 67) REHHET 1 EE| — 2—2 100 / 200 ( 50)
HEE TR 1 525 | 1—1 72/ 100 ( 72) REHE—-T 13| — 3—3 138/ 300 ( 46)
BHGERH2 |2 550 REHE-T 11| — 1—1 49 / 100 ( 49)
EHGHERTM3 |3 525 WEHE—-7+ |1 350 | 1—1 55/ 100 ( 55)
ATAT  WBAT —TEi2 | — 2—2 164 / 200 ( 82) Eg%@ 14 2 350
Wi A7 —FHT+|2 550 | 1—1 170 / 200 ( 85) IWEHH THEE] 2 350
FHA—THI2 | — 2—2 164 / 200 ( 82) fRRERLT: f@?ﬁ‘%ﬁ*‘?l2 — —2 100 / 200 ( 50)
FY¥A—FHi+|2 550 | 1—1 170 / 200 ( 85) BERESeTET 1 B — 1—2 78 / 200 ( 39)
Ty —THi2 | — 2—2 150 / 200 ( 75) e —7 13 — —3 141/ 300 ( 47)
Tryy =i+ |2 500 | 1—1 154 / 200 ( 77) e -7 11| — 1—1 51/ 100 ( 51)
Mg AT EIH2 |2 550 e —7+ |1 400 | 1—1 51/ 100 ( 51)
FHA R 1 550 F#-T12 — 2—2 112/ 200 ( 56 )
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L2HERE iR EURRE-T |- 2—2 172/ 400 ( 43) F#—-T13 — 3—3 147/ 300 ( 49)
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3 e —7 — 2—2 168 / 400 ( 42) fERESEAS T WIBERH 2 35.0
3=y 2 375 EHiE 1 H 2 450
ANWMAERE BERE -7 — 2—2 156 / 400 ( 39 ) .,%Iﬁﬁtﬂaﬂ 2 475
(TS S — 2—2 168 / 400 ( 42) R E - —2 84 / 200 ( 42)
HBERE 2 BF — 1—2 90 / 200 ( 45)
BB AE 2 BF — 3—3 132/ 300 ( 44)
ZHEBE=IM HE TEbT1282 | — L2-1,2 72/ 200 ( 36) - 1—1 45/ 100 ( 45)
FEbTI24 | — 4—5 140 / 400 ( 35) 1 30 |1—1 43 / 100 ( 43)
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= —F1-28] |— 23-23 114 / 300 ( 38) f@%ﬁ(ﬁrliﬂéﬂ - 1—2 90 / 200 ( 45)
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LHEXE RS — 73 3—3 144 / 300 ( 48) BHEBH 2 525
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7—R B2 |2 BF BT VTR —THii3 - 3—4 272/ 400 ( 68)
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Yok —7 20k 550 | 2—2 156 / 200 ( 78) Kb 2 —F 2 BF 450 | 2—2 112/ 200 ( 56 )
AL — T3 3—3 256 / 350 ( 73) VI =T T 45.0
AL — T i 5—5 335/ 500 ( 67) V7 MR ) 45.0
ZARA Y —T A2 500 | 2—2 140 / 200 ( 70) F =AY AT R 45.0
T A—TRHI3 3—3 263/ 350 ( 75) T L] 45.0
T A—TFRHI5 5—5 325/ 500 ( 65) BHR T 45.0
T A—TF 4 475 | 2—2 142/ 200 ( 71) IR B 45.0
A —F i3 3—3 249 / 350 ( 71) ks 27 LT 45.0
A —F#ii5 5—5 325/ 500 ( 65) i e ] 45.0
KAy —F 22ff 500 | 2—2 140/ 200 ( 70) | [BAF+FEE FHi# ik —THIA 4—4 216 / 400 ( 54 )
TYT —THI3 3—3 252/ 350 ( 72) Hil#E—THIB 3—3 220/ 400 ( 55)
TOT —THI5 | — 5—5 335/ 500 ( 67) ik 425
TOT—74&f |2 500 | 2—2 140/ 200 ( 70) B LE LS —T I3 3—3 105/ 300 ( 35)
PSS 3 550 FEH—THI2 2—2 70 / 200 ( 35)
KA ) 3 550 FEH—THI5 5—5 175/ 500 ( 35)
ZR_AvFF |3 500 FEH—T +Hi 375 | 2—2 78 / 200 ( 39)
ARAUAEER]] 3 50.0 FALHE — T RIS 3—3 105/ 300 ( 35)
TIUR 3 500 FALHE —THI2 2—2 70 / 200 ( 35)
TIVAEEAER | 3 50.0 FALHE — T RIS 5—5 175/ 500 ( 35)
FAY 3 500 HERHE — T+l 350 | 2—2 70 / 200 ( 35)
KA 285l 3 525 DB —T RT3 3—3 105/ 300 ( 35)
TIT 3 500 DB —THI2 2—2 76 / 200 ( 38)
TUTATER |3 525 DB —THI5 - 5—5 175/ 500 ( 35)
FUAR—THIS | — 3—3 252/ 350 ( 72) DB — T+ 2 350 |2—2 76 / 200 ( 38)
FURR—F2f |2 475 [2,3—3 216 / 300 ( 72) TEHFRERMA| 3 350
N —THi3 | — 3—3 273/ 350 ( 78) TELIRERYB | 2 375
N —THi5 | — 4,56—5 511/ 700 ( 73) FRHBERMMA |3 BF
NS b —7 20 2 525 [2,3—3 219/ 300 ( 73) FRHEMYB |2 BF
DB —7Hi3 | — 3—3 273/ 350 ( 78) LERRTA 3 350
DA —7Hi5 | — 5—5 432/ 600 ( 72) DEFTB 2 350
DA —720f 2 550 [2,3—3 225/ 300 ( 75) @A 1T — 7R3 — 3—3 114 / 300 ( 38)
AR —T R3[| — 3—3 263/ 350 ( 75) T — T2 — 2—2 76 / 200 ( 38)
AARSL—THI5 | — 5—5 444 / 600 ( 74) 1B —7HiI5 — 5—5 190 / 500 ( 38)
AAStib—740f 2 525 |2,3—3 228 / 300 ( 76) 1TB—7 + 8l 2 350 |2—2 76 / 200 ( 38)
FURNK 3 415 FEL—THI3 - 3—3 114/ 300 ( 38)
FUAMFER] |3 50.0 FEL—THI2 2—2 76 / 200 ( 38)
NFEE 3 525 FEH—T RIS 5—5 190 / 500 ( 38)
B Epl| 3 525 FEB =T+l 375 | 2—2 86 / 200 ( 43)
DB 3 525 [ 5% — T RiI3 3—3 111/ 300 ( 37)
DA 2EES]] 3 55.0 [ 5 — T RI2 2—2 76 / 200 ( 38)
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NFtEaE— 75| — 5—5 200 / 500 ( 40) BT —4—TA|— 3—3 153 / 300 ( 51)
ANtEu—7+#fi| 2 375 | 2—2 104 / 200 ( 52) BT —4—7B|— 2—2 156 / 300 ( 52)
ITHEGRTA 3 350 4= THA |3 450
1TBHTYIB 2 350 Z4—ARIHB |2 450
FEHRIA 3 350 BT —X 1WAl 3 425
FEHRIB 2 350 Briir—4x 1Bl 2 450
ERERTHA 3 350 HEER £ [£ — 7 i — 4—6 588 / 700 ( 84)
EHERTHB 2 350 [ 4 650
ABfEHERTIA |3 35.0 PRI | 4 65.0
AWEHERTIB |2 35.0 R BT - 3,4—4 236 / 400 ( 59)
33 P —THI3 — 3—3 129 / 300 ( 43) TR — 7 — 3—5 354/ 600 ( 59)
P —THI2 — 2—2 86 / 200 ( 43) R 3 450
&Y — T RIS — 5—5 180 / 500 ( 36) T ER 3 500
B — 7 +ai 2 350 |2-2 74 / 200 ( 37) Prtefid: G- — 3—3 192 / 300 ( 64)
RRFEHIHA 3 350 Uney—7 — 0 189 / 300 ( 63)
B ETHB 2 350 EeE g 3 415
fERERLY BAERRE — T3 — 3—3 183/ 300 ( 61) U E VR 3 475
ﬁ%ﬁ(ﬁ THI5| — 5—5 285/ 500 ( 57) | &4k SMERE EBRREET SRR | — 3—3 201/ 300 ( 67)
E va 2 425 | 2—2 114/ 200 ( 57) ERERGETSHA | — 5—5 330 / 500 ( 66)
— 3—3 123/ 300 ( 41) EBRFET + 1 500 |[3—3 189/ 300 ( 63)
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i —TRI3 | — 3—3 108 / 300 ( 36) E—T+ 1 475 [ 3—3 186/ 300 ( 62)
it —TR2 |- 2—2 72 / 200 ( 36) EATTK 3 450
iﬁ%%f?ﬁﬁs 5—5 180 / 500 ( 36) R BE-TIRAE |- 3—3 210/ 300 ( 70)
Il —7 2 BF |22 70 / 200 ( 35) E—T5RE | — 5—5 340 / 500 ( 68)
B THE—THI3| — 3—3 111/ 300 ( 37) B —T+ 1 525 | 3—3 204/ 300 ( 68)
BT —TH2| — 2—2 76 / 200 ( 38) PE¥MLTIRA | — 3—3 195/ 300 ( 65)
BT —THI5| — 5—5 185/ 500 ( 37) PEFEMTERA | — 5—5 315/ 500 ( 63)
fH#m T —7+5i| 2 350 | 2—2 76 / 200 ( 38) PESEA T + 1 500 |[3—3 189/ 300 ( 63)
B NY — T RIS 3—3 123/ 300 ( 41) RHEATH 3 475
BEENY — T2 | — 2—2 90 / 200 ( 45) PEFEMANL |3 450
BEE Y — T RIS | — 5—5 180 / 500 ( 36) e wE—-73RE |- 3—3 234/ 300 ( 78)
BEANY—FT 4572 350 | 2—2 78 / 200 ( 39) wE—-758E |- 5—5 380 / 500 ( 76)
ERTHIA |3 475 B —T+ 1 550 |3—3 216/ 300 ( 72)
BB |2 450 EHpsE T3R8 E | — 3—3 219/ 300 ( 73)
BIA |3 400 EHpeE 758 | — 5—5 3855/ 500 ( 71)
: HTB |2 400 [E R E T + 1 550 |3—3 204/ 300 ( 68)
IrHEFERTA 3 BF BE A 3 500
ISR B 2 BF EFsREALR |3 500
HHTHARTA |3 3850 BT BFE-TARE |- 3—4 292/ 400 ( 73)
HHTHARIHB |2 3850 H¥F—76RH |- 5—6 426 / 600 ( 71)
BEENUTHIA [ 3 375 BFE—T+ 1 525 |3—3 213/ 300 ( 71)
BEENUTHIMB [ 2 375 BREFTARA | — 3—4 300/ 400 ( 75)
F Bl —THI3 — 3—3 183/ 300 ( 61) BRETTEHA|— 5—6 438 / 600 ( 73)
EH#—THIS — 5—5 260 / 500 ( 52) BRETT+ 1 550 |3—3 213/ 300 ( 71)
Bl —T Al 2 475 | 2—2 132/ 200 ( 66) MEHERET AR B | — 3—4 284/ 400 ( 71)
FHETIHA 3 450 MEHgRET6 R E | — 5—6 414 / 600 ( 69 )
FEHEMIHB 2 475 MEHERET + 1 500 |[3—3 198/ 300 ( 66)
[EIBE (S — 7R3 — 3—3 105/ 300 ( 35) IERUEETARE | — 3—4 292/ 400 ( 73)
[EE— T A2 2—2 70 / 200 ( 35) IEREET6 R | — 5—6 438 / 600 ( 73)
[EE— 7RIS — 5—5 175/ 500 ( 35) ISR ESET + 1 550 |3—3 213/ 300 ( 71)
[E R — 7 + i 2 350 |2—2 72/ 200 ( 36) b T —T 4R B | — 3—4 304/ 400 ( 76)
EEEATIA 3 350 T —T6RE | — 5—6 444 / 600 ( 74)
EEEATIB 2  BF Kbk T —7 + 1 550 |3—3 213/ 300 ( 71)
ZR—=Y  ZR—Y—FHi3 | — 3—3 120 / 300 ( 40) it T AR A | — 3—4 284/ 400 ( 71)
AR—Y —FHi2 | — 2—2 80 / 200 ( 40) it T 68 A | — 5—6 420 / 600 ( 70)
AR—Y —FHi5 | — 5—5 180 / 500 ( 36) AR T + 1 500 |3—3 201/ 300 ( 67)
ZR—=Y—F+H1| 2 3715 | 2—2 96 / 200 ( 48) AH—T 4R B - 3—4 284/ 400 ( 71)
AR—VHIA |3 425 AH—T6FH - 5—6 426 / 600 ( 71)
AR—VHIIB |2 425 Ah—F+ 1 525 | 3—3 204/ 300 ( 68)
PNGEE DR DEE—TA — 3—3 171/ 300 ( 57) HEEBETARE | — 3—4 276 / 400 ( 69 )
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WAL —T T — 3—3 174 / 300 ( 58) AT 3 475
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EHE I 3 425 Febk T AT 3 500
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